Chapter 09 - Responsibility Accounting


Exercise 9-1A  No check figure

Exercise 9-2A  No check figure

Exercise 9-3A  No check figure

Exercise 9-4A Budgeted net income: $322,500; actual net income: $318,160
Exercise 9-5A

a. 
Total manufacturing costs: $1,354,400 for flexible budget 

$1,413,200 for actual results

Exercise 9-6A  No check figure

Exercise 9-7A  6.67%

Exercise 9-8A  

a.
ROI: 16.25%
b.
Investment in the new operating assets: $184,615 

Exercise 9-9A   $80,000
Exercise 9-10A

a.
Division A: $6,000

Division B:  $0

Exercise 9-11A Residual income: $16,720

Exercise 9-12A New residual income: $520,000
Exercise 9-13A ROI of the additional investment opportunity: 9.00%
Exercise 9-14A No check figure

Exercise 9-15A No check figure

Problem 9-16A Total controllable costs: $1,120,200

Problem 9-17A No check figure

Problem 9-18A

a.
Total variance of controllable costs: $340 unfavorable

b.
Total variance of controllable costs: $3,150 favorable

Problem 9-19A No check figure

Problem 9-20A

c.
ROI = 10.00%
Problem 9-21A

c.
23.05%
Problem 9-22A

b.
The expected ROI of Marsh Division after the new investment: 12.02%

c.
Additional residual income if investment is accepted: $18,750

Problem 9-23A  
a.
ROI of the copier division: 11.1%

g(4).
RI after the additional investment for the fax division: $4,200

Problem 9-24A  No check figure
Exercise 9-1B  No check figure

Exercise 9-2B  No check figure

Exercise 9-3B  No check figure
Exercise 9-4B

a.
Budgeted income: $91,500; actual income: $102,975
Exercise 9-5B  

The flexible budget variance for the total manufacturing costs: $6,000 unfavorable

Exercise 9-6B  No check figure
Exercise 9-7B  9.31%

Exercise 9-8B

a.
12.5%

Exercise 9-9B
 RI = $700,000
Exercise 9-10B

a. Hoover Division: $79,500

Jemison Division: $66,000

Exercise 9-11B Residual income: $5,400
Exercise 9-12B  RI if East Cobb accepts the investment opportunity: $175,750
Exercise 9-13B  
a.
ROI of the additional investment opportunity: 12%

b.
RI of the additional investment opportunity: $80,000
Exercise 9-14B  No check figure
Exercise 9-15B  No check figure
Problem 9-16B  Total controllable costs: $491,000

Problem 9-17B  No check figure
Problem 9-18B 

a.
Total controllable costs: $1,314,000 budgeted and $1,333,200 actual

b.
Total controllable costs: $4,818,000 budgeted and $4,865,200 actual

Problem 9-19B No check figure
Problem 9-20B

b.
1.6



c.
8%

d1.
9%;
d2.   8.40%

Problem 9-21B

c.
ROI = 12.5%

Problem 9-22B

b.
Tripp Company’s ROI after the new investment opportunity: 8.1%

c.
Residual income if the investment is accepted: $6,000

Problem 9-23B  
a.
ROI of Europe Division: 8.0%

g(4).
RI after the additional investment for Asia Division: $39,200

Problem 9-24B No check figure
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